HRpd IeeT<el-

Wpa ¥ IR d-

Answer in Sanskrit : \’él

(@) e gl & gRd? ysrd 4

(@) memgYeae s e 37 s’ Yo
) T iR ae R paar? 25T H G 3
(@) R T i froea e A7 wsﬂ
(¥) mReReaw 3 ey W@ MU

FreftReaudy suemi gus goa-
Fr=fRea wal & suwf g #fdmwe-
Identify the prefixes in the following words :
ug Jug 99 U2
(®) Irqwary e — war
(@) 3m: T J—m 4y
(M TR " o b4 T
(7) 3J9ce: =9 G L
(¥) 3ImTesld REa IT=< U_pA
(@ fasmm & PR g
FdeeR s fraa-
&R sewy -

Decline the words according to the instructions :
@ fg (Va 3 fexetran fawfe
(@) foren \31(;!\ gy T foufda

(M A 37 ey fawfe
() &g 4\ aqef foufa
fremgar enged fereger-
frdemgar org wu ford-
Conjugate [write the forms of] the roots according to the instructions :
(@) 9 018, TR, JUH Ty
(@) - tiie, TTbR, Weaw qoy
(m U ¢J¢ TI®R, 3cH Iy

(7) 31-TH 01¢, CTPR, HEgH 1y

»

%
.‘: 10



e -
e a-

Joi :
oin tf_r_g‘smwdhvs

..,_4\ ~ M elcHl 4r32.2“'1”£g Mg\ Ad]s
: el M o d -
'—M&? A

° + 310, T + 3R, WA+ 3Ed, WET + 3N, TR+ FTAdT
. FrafiRedaedy fvan: & goa-
RrerfRea amal ¥ Ranait ) g -
Correct the verbs in the following sentences ;
(®) 3 G@ T IgHafdl o M
(@) SHEH MEHEEaR 3R 3| el

(M) R MerRed 7| s-(e\e,um

(@) e 7@ RS TRl Jifye yiH o
7. WP HAR Foa-

WP | AR IR~

Translate into Sanskrit : '

(B) Tirensn faftreme ugn facer o) sTI2f] @“@4;:—1—{:—7‘1& umu@"

(W) & TENs o AP UGl o TH sef) HSSQ_Q:&: MlcHRYR

() g 3R sfEa et F A A A1 Hcu yl\s'mﬂe'llf}"?

&y
. s s : HEA
(@) ER e 3 A &1 3 A TRH ) IR 3H s Q“"f"’ ~ P

(5) T TEN ER gl #1 Hel oAl JTTed] AT Qe oy

| ‘ ﬂ&&?
TS 1 31T RI 59 H g3 afl x4 2\?@4 SteH 9 ITd ﬂﬁlh‘“{

(B) 3 9R 99K & fore ae i €1 i ° H;_:Lbﬁ.{",u' (a,zq.i.‘q‘ do

» 58,4 4
oy i oo T SRR AT
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